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(-) F(1)+F(2)+F(3)+ ..+F(100) =7 [5 ~ ]
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int n =1024;
int log = 0;
for (inti=1;i<n;i=i*2);
log++;

System.out.printin("n="+ n +”, log= " +log);
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public class MyClass

{
private int infol;
private char info2;
public MyClass(int newInfol, char newinfo2)
{
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}
public MyClass()
{
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public void doExcer()
{
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}
}

AT 74850 B Y @ DS B A W] st o F—‘ﬁ trE? P eF? [12 + ]
1. MyClass Object1 = new MyClass(43, ‘C’);

2. MyClass Object2 = new MyClass(100.12, ‘D’);

3. MyClass Object3 = new MyClass();

4. Object3. doExcer();

5. MyClass Object4;

6.

Object4.MyClass(100, ‘E’);
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public static int[] doSelectionSort(int[] arr){
for (inti=0;i<arrlength - 1; i++)

{
int index = i;
int smallerNumber = arr[index];
arr[index] = arrfi;
arr[i] = smallerNumber,
}
return arr;

} GET D



T 7R AR
T E_ g * MySQL ¥
mysql> use STUD;
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mysql> create table Students
-> (
-> stud_id int not null,
-> age int not null,
-> name varchar (255),
-> city varchar (255)
>);
Query OK, 0 rows affected (0.08 sec)

mysql>
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Class.forName("com.mysql.jdbc.Driver");
System.out.printin("Connecting to a selected database...");
conn = DriverManager.getConnection(DB_URL, USER, PASS);
System.out.printin("Creating table in given database...");

stmt = conn.createStatement();

System.out.printin("Created table in given database...");
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var EmpBase =
from emp in ComDataBase.Employee
select new{ emp.EmpNum, emp.Name, emp.Sex, emp.Salary};
foreach (var elm in EmpBase)
{
Console.WriteLine ( “{0, -10}, {1, -12}, {2, -5}, {3, -12} \n”,
elIm.EmpNum, elm.Name, elm.Sex, elm.Salary) );

}
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